
Simplification & Approximation for IBPS RRB & PO Prelims

All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any
form or by any means, electronic, mechanical, photocopying, recording or otherwise, or stored in any

retrieval system of any nature without the permission of cracku.in, application for which shall be made
to support@cracku.in

Downloaded from cracku.in

.

https://cracku.in/
https://cracku.in


Questions
Instructions
For the following questions answer them individually

Question 1

Simplify the following expression:

A    

B    

C    

D    

Answer: D

Explanation:

= 

= 

= 

= 

= 

= 

= 

Hence, the correct answer is Option D

Question 2

Simplify the following expression:

A    

B    -4

C    

D    

Answer: A

Explanation:
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= 
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= 

= 

= 

Hence, the correct answer is Option A

Question 3

The value of  is:

A    

B    

C    

D    

Answer: A

Explanation:

= 

= 

= 

= 

= 

= 

Hence, the correct answer is Option A

IBPS PO Free Mock Test
Question 4

The value of  is:

A    

B    

C    

D    

Answer: B

Explanation:
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= 
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= 

= 

= 

Hence, the correct answer is Option B

Question 5

The value of  is:

A    10

B    0

C    1

D    5
Answer: C

Explanation:

Hence, the correct answer is Option C

Question 6

If the numerator of a fraction is increased by 15% and denominator is decreased by 20%, then the fraction, so obtained, is  What is
the original fraction?

A    

B    

C    

D    

Answer: A

Explanation:
Let the numerator of the fraction = 

Denominator of the fraction = 

Numerator when increased by 15% = 

Denominator when decreased by 20% = 
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Given, new fraction = 

>  

>  

>  

>  

The original fraction 

Hence, the correct answer is Option A

IBPS PO Previous Papers (Download PDF)
Question 7

The value of  is:

A    322

B    424

C    246

D    286
Answer: A

Explanation:

Question 8

The value of  is:

A    

B    

C    

D    

Answer: B

Explanation:
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= 

= 

= 

= 

= 

=

Question 9

The value ok  lies between .........

A    0.1 and 0.15

B    0.2 and 0.25

C    0.15 and 0.2

D    0.25 and 0.3
Answer: C

Explanation:

 

=

=

=

=

=  = 0.16

IBPS Po Important Questions PDF
Question 10

In an office,  of the total number of employees are males and the rest are females.  of the number of males are non technical

workers while  of the number of females are technical workers, What fraction of the total number of employees are technical
workers?

A    

B    

C    

D    

Answer: A
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Explanation:
Let the total number of employees be 8.

Total number of males employee = 8  = 5

Total number of females employee = 8 - 5 = 3

Non technical males workers = 5  = 2

Technical males workers = 5 - 2 = 3

Technical females workers = 3  = 2

total number of technical worker = 3 + 2 = 5

Fraction of the total number of technical workers = 

Question 11

a, b and c are three fractions such that a < b < c. If c is divided by a, the result is , which exceeds b by . The sum of a, b and c is 
What is the value of (2a + b - c)?

A    

B    

C    

D    

Answer: D

Explanation:

b + 

b = 

a + b + c = 19/12

a = 

 2a + b - c = 

Question 12

Three fractions  and   are such that .When small of them divided by the greatest, the result is , which exceeds  by

0.0625.If ,then the value of  is
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C    

D    

Answer: C

Explanation:

y = 

x + y + z = 

x + 

x + z = 

Free Banking Study Material (15,000 Solved Questions)
Question 13

Two-third of the number of employees of a companyare males andthe rest are females. If  of the male employees and  of the

female employees are temporary employees and the total number of permanent employees is 740. then  of the total number of
employees exceeds the number of temporary female employees by:

A    400

B    340

C    308

D    320
Answer: A

Explanation:
let the total employees be x.

Male employees = 

Female employees = x -  = 

Permanent male employees = 1 -  =  of the male employee =  = 

Permanent female employees = 1 -  =  of the male employee =  = 
Total number of permanent employees = 740

 +  = 740

 = 740

x = 740 

 of the total number of employees = 1200  = 560

Number of temporary female employees =  = 

=  = 160

 of the total number of employees exceeds the number of temporary female employees by = 560 - 160 = 400

Question 14

If , then the value of the following is approximately:
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C    1

D    0.5223
Answer: D

Explanation:
Given, 

> 

Question 15

Ali had ₹ 320. He spent  of it to buy a watch. Of the remainder, he used  of it to buy a pen. How much money is left?

A    70

B    120

C    90

D    100
Answer: A

Explanation:

Money spent to buy a watch =  = ₹ 240

Remaining Amount = 320 - 240 = ₹ 80

Money spent to buy a pen =  = ₹ 10

Money left with Ali after buying a watch and a pen = 320 - 240 -10 = ₹ 70

Hence, the correct answer is Option A

Daily Free Banking Online Tests
Question 16

Which one of the following is true?

A    

B    

C    

D    

Answer: B

Explanation:
Option A

> 

> 

Option B
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> 

> 

Option C

> 

Option D

> 

Hence, the correct answer is Option B

Question 17

In an office, there are 216 tables and 264 chairs. If  of the tables and  of the chairs are broken then how many people can work in
the office if each person requires one table and one chair?

A    180

B    186

C    100

D    198
Answer: A

Explanation:

In an office, there are 216 tables and 264 chairs. If  of the tables and  of the chairs are broken.

Remaining tables = 216 of  = 216 of  = 180

Remaining chairs = 264 of  = 264 of  = 198

In question, it is given that each person requires one table and one chair to work in the office. There are 180 tables and 198 chairs
remaining. So we can say that 180 people can work in the office.

Question 18

A fraction is such that the numerator is five less than the denominator. Also four times the numerator is one more than the
denominator. The fraction is:

A    

B    

C    

D    

Answer: D

Explanation:

Let's assume the fraction is .
A fraction is such that the numerator is five less than the denominator.

P = Q-5

Q = P+5    Eq.(i)

Also four times the numerator is one more than the denominator.
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4P = Q+1    Eq.(ii)

Put the value of 'Q' from Eq.(i) to Eq.(ii).

4P = P+5+1

4P-P = 6

3P = 6

P = 2

Put the value of 'P' in Eq.(i).

Q = P+5 = 2+5 = 7

fraction = 

Free Banking Study Material (15000 Solved Questions)
Question 19

The median of the given data  is:

A    

B    

C    

D    

Answer: D

Explanation:
Median is the middle term when the given data is arranged in ascending order from left to right.

Here the given data is in fraction. So first we need to take the LCM of the denominator.

LCM of (2, 7, 4, 3, 8) = 168

Now arrange the given data in ascending order.

, , , , 

So medium = 3rd term = 

= 

Question 20

What is the value of: ?
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C    

D    

Answer: C

Explanation:

= 

= 

= 
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